



























































































































































































































































SPOTLIGHT ON DIVERSITY, EQUITY AND INCLUSION

— Cluster 1 — Cluster 2
(S z
(14 - — - R
3 ° 3 °
5 3 5 2
2 S
ra 0-07 1-02 1-0% 2-04 2-11 3-06 401 4-08 5-03 e 0-07 1-02 1-09 2-04 2-11 3-06 401 4-08 5-03
—_ Cluster 3 — Cluster 4
w =
w =
= [5}]
% o -
g " g
L L
g o T I I T I I T T I T I T I T T I I T I I g o [T T I T I AT T I I A T I I AT I I T T I T I T I I T I
L 0-07 1-02 1-09 2-04 2-11 3-06 4-01 4-08 5-03 I 0-07 1-02 1-09 2-04 2-11 3-06 4-01 4-08 5-03
Py Cluster 5 — Cluster 6
oo
2] £l
T o= ?l_ o
= E c
B 1]
£ = E =
o o o 5
gr' [ g" [
o O LR R NI R RN NN LRIRIR R RIRIRAR RN Rt g o IR RERER IR NN RN RN NI RNA RN NARARARRRLRLE]
E 0-07 1-02 1-0% 2-04 2-11 3-06 401 4-08 5-03 e 0-07 1-02 1-09 2-04 2-11 3-06 401 4-08 5-03

States

- Cluster 7 B Accueil Grand Age
@ O Accueil Médicalisé
~ —_——— O Aumoins une demande en cours
L =2 O Au moins une orientation en cours
i B Autre accueil
5 3 B Decede
2 2 B Domicile|SansPriseEnCharge
5 O IRIRRRLRIRRRARIRRRARIRRRARARLRARRIRARERRIRARRARARRARARARI! O EANM
£ 0-07 1-02 1-09 2-04 2-11 308 401 4-08 503 O E.SAT|Autre accompagnement
B E.SAT|Domicile
O

Senvices d'accompagnement au domicile

Reading graphs: in X-axis, the months and years (sequences of 5 years complete, from O-
01 to 5-12); in Y-axis: the proportion of cluster observations, which ranges from O to 1. Each
cluster has a different size (the size is indicated by “Freq. (weighted n=[number]". For
example, cluster 6, we see that nearly 60% of the 3,228 people in this cluster do not
experience any changes in their situation over a period of 5 years.










